
08-06-2025

(Discontinued) Ethos Swing Away Armrest 

Discontinued 10/17/2022 If retrofitting, Receivers are needed.
 

Item Number Part Number Description Quantity

1, 14 114440 Ethos Swing Away Armrest Attaching Hardware 1

One side only

2 003232 M6 x 55 BHCS Blk Zc 2

3 003849 Saddle For Dimple 1 1/8" 2

5, 16 108163 Swing Away Arm Receiver with Nyliner, Left 1

1, 7a, 12 - 14 108166 Short Swing Away Arm Right, Ethos / Rogue 1

1, 8a, 12 - 14 108167 Short Swing Away Arm Left, Ethos / Rogue 1

1, 7a, 8a, 12 -
14 108168 Short Swing Away Arm PAIR, Ethos / Rogue 1

1, 7b, 12 - 14 108169 Tall Swing Away Arm Right, Ethos / Rogue 1

1, 8b, 12 - 14 108170 Tall Swing Away Arm Left, Ethos / Rogue 1



08-06-2025

Item Number Part Number Description Quantity
1, 7b, 8b, 12 -
14 108171 Tall Swing Away Arm PAIR, Ethos / Rogue 1

9 100658 M6 Nylock Nut Blk Zn 2

10 100667 M6 x 12 BTN SHCS BLKZC w/Patch 1

11 100746 M6 Flat Washer Blk Zn 2

12 100804 Tube End Plug 1" 1

15 101853 M6 Washer Blk Zn 2

16 103517 Nyliner 1" ID x 1.094" OD x 1.125" Long 1

17 103397 M6 x 40 Shoulder Screw BLK ZC 1

18 102621 M5 x 8 BHCS BLK ZC 1

19 004117 Saddle M6 ID x 1 OD x .25 T 1


